‘Schacht Drosselt
DH 241.162 mNN
SH 235,980 m+NN

Schacht 64-NEU
DH 239,862 NN
5H236,880 meNN
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‘Schacht 64.3.1

DH 241,487 meNN
SH 238.970 meNN
DS252m

[Schacht Austauf
DH

54237310 mNN |
DS219m
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‘Schacht Entlastung
DH 239,540 mNN
SH 237.430 MNN
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‘Schacht Vorschacht e Schach 64.11-Umbau
DH 239.713 m+NN X 2 2 7)/" DH 240.770 m+NN
SH 236.530 m+NN SH 236.090 m+NN
DS 3.18m R DS 4.68 m
)\ | Schacht 65.3
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Schacht 65.2
DH 242.418 m+NN
SH 239.540 m+NN
DS288m
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‘Schacht 64.12.1
DH 242.620 m*NN
SH 240,640 m+HH
DS 198m

‘Schacht 65-Umbau
DH 244.430 m#HN
SH 230.770 mNN
DS 466 m

‘Schacht65.1
DH 243618 m+NN
SH 239.700 meNN
DS392m




